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Candidates are required to give their answers in their own
words as far as practicable.
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Answer any four of the following: 4x15=60

1) Explain the income and expenditure methods of measuring national income of a country.
Distinguish between nominal GDP and real GDP.
(10 + 5)

2) What are the components of current account and capital account in a balance of
payments? Balance of Payments always balances — Explain.
(8+7)

3) Define high powered money. Explain the process of credit creation by banks.
(5+10)




4)  What are the functions of money? Clearly explain each of them. Explain the Fisher’s
version of quantity theory of money.
(2+6+7)
5) Distinguish between demand pull inflation and cost push inflation. Explain the social
costs of inflation. What do you mean by hyperinflation?
(5+7+3)
6) Distinguish between Classical and Keynesian models of determination of output and
employment.
(15)
7) llustrate the simple Keynesian model of income determination. Discuss the process of
investment multiplier in this model.
(10 +5)
8) Define IS and LM curves. How are the equilibrium rate of interest and income
determined in the IS-LM model? (6+9)
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